
������������������������ 

www. Betstco.com
541-895-3083 M-F 7am-4pm PST

83371 Melton Rd, Creswell OR 97426

�������������������������������������������
�����
�������������	����������������������

����
������������	���������������������������������������������������������������


����������������������������������������������

VL-WCX5 Chipper













































  
 3

 
  

一、整机 

 

序号 品 号 代 号 名称＆规格 数量

底座焊合件 新

进料斗焊合件

断料刀焊合件

平垫

半圆头方颈螺栓

锁销组件

平垫

六角防松薄螺母

夹布橡胶板





  
 5

 
  

二、出料口 

 

序号 品 号 代 号 名称＆规格 数量

上罩焊合件

隔圈

压板

出料口焊合件





  
 7

 
  

三、刀座总成 

 

序号 品 号 代 号 名称＆规格 数量

带座轴承

飞轮焊合件

动刀

平垫

全螺纹螺栓

弹垫

全螺纹螺栓

弹垫

轴端罩

 
  

  
 4

 
  

全螺纹螺栓

平垫

六角防松薄螺母

全螺纹螺栓

六角防松薄螺母

平垫

全螺纹螺栓

弹垫

全螺纹螺栓

平垫

六角防松薄螺母

压条

全螺纹螺栓

加大平垫

弹垫

定刀

说明书筒

平垫

全螺纹螺栓

六角防松薄螺母

轴端罩

下拉杆销轴

传动轴护罩

 
  

  
 3

 
  

一、整机 

 

序号 品   号 代    号 名称＆规格 
Name& 

Specification 
数量 

1 804090007 WCX5-0012 底座焊合件(新) Base weldment 1 

2 804090001 WCX5-0011 进料斗焊合件 

Feeding 

bucket 

weldment 

1 

3 804090026 WCX5-0013 断料刀焊合件 
Cutting knife 

weldment 
1 

4 506010056 GB97.1-10 平垫 Plain washer 6 

5 501040502 GB12-M10X25 半圆头方颈螺栓 Bolt  3 

6 700080010 200.56.011 锁销组件 
Combined lock 

pin 
2 

7 506010063 GB97.1-24 平垫 Plain washer  2 

8 503010769 DIN985-M24 六角防松薄螺母 Lock nut 2 

9 704090052 WCX5-0107 夹布橡胶板 Rubber plate 2 



  
 4

 
  

10 501011127 GB5783-M12X35 全螺纹螺栓 bolt 4 

11 506010057 GB97.1-12 平垫 plain washer 9 

12 503010763 DIN985-M12 六角防松薄螺母 Lock nut 4 

13 501011113 GB5783-M10X30 全螺纹螺栓 bolt 2 

14 503010762 DIN985-M10 六角防松薄螺母 locknut 7 

15 506010059 GB97.1-16 平垫 Plain washer 1 

16 501011160 GB5783-M16X50 全螺纹螺栓 bolt 1 

17 506030039 GB93-16 弹垫 Plain washer 1 

18 501011099 GB5783-M8X20 全螺纹螺栓 bolt 5 

19 506010055 GB97.1-8 平垫 Plain washer 7 

20 503010761 DIN985-M8 六角防松薄螺母 Lock nut 2 

21 704090053 WCX5-0108 压条 
Pressure 

strip  
1 

22 501011125 GB5783-M12X25 全螺纹螺栓 bolt 1 

23 506010036 GB96.1-10 加大平垫 Larger washer 3 

24 506030035 GB93-8 弹垫 Spring washer 3 

25 704090049 WCX5-0102 定刀 
Stationary 

knife 
1 

26 702410043 BH-6.07.092 说明书筒 Manual tube 1 

27 506010054 GB97.1-6 平垫 Plain washer 6 

28 501011089 GB5783-M6X20 全螺纹螺栓 bolt 3 

29 503010759 DIN985-M6 六角防松薄螺母 locknut 3 

30 704090066 WCX5-0109 轴端罩 Shaft cover 1 

31 704090119 WCX5-0110 下拉杆销轴 
Tie rod pin 

shaft 
2 

32 704090125 WCX5-0111 传动轴护罩 
PTO shaft 

cover 
1 

 
  



  
 5

 
  

二、出料口 

 

序号 品   号 代    号 名称＆规格 
Name& 

Specification 

 
数量 

1 804090035 WCX5-0015 上罩焊合件 
Upper cover 

weldment  

 
1 

2 704070216 WCM8-10102 隔圈 Space ring  1 

3 704070215 WCM8-10101 压板 
Pressure 

plate  

 
2 

4 804090046 WCX5-0016 出料口焊合件 
Discharge 

weldment 

 
1 

  
 9

 
  

五、加高出料口 

 

序号 品 号 代 号 名称＆规格 数量

上罩焊合件

隔圈

压板

出料口焊合件

全螺纹螺栓



  
 6

 
  

5 704070217 WCM8-10103 导排罩 
Exhaust hood 

cover 

 
1 

6 804070152 WCM8-00041 锁销架 
Lock pin 

bracket 

 
1 

7 804070149 WCM8-00038A 锁销手柄 
Lock pin 

handle 

 
1 

8 704070218 WCM8-10104 锁销 Lock pin  1 

9 702770011 AM60.01.110 回位弹簧 Return spring   1 

10 508010071 GB119.1-B-4X28 B型圆柱销 Pin  1 

11 804070155 WCM8-00042 压紧螺母合件 Pressure nut 2 

12 506010056 GB97.1-10 平垫 Plain washer 4 

13 503020125 GB923-M10 盖帽式螺母 nut 2 

14 501040502 GB12-M10X25 半圆头方颈螺栓 bolt 4 

15 506010055 GB97.1-8 平垫 Plain washer 16 

16 503010761 DIN985-M8 六角防松薄螺母 Lock nut 8 

17 501011102 GB5783-M8X35 全螺纹螺栓 bolt 2 

18 501011101 GB5783-M8X30 全螺纹螺栓 bolt 6 

19 703340017 ZL-25.104 大 R销 R pin 1 

 
  

  
 11

 
  

七、进料超长口 

 

序号 品 号 代 号 名称＆规格 数量

进料斗焊合件

平垫

弹垫

全螺纹螺栓

进料加长斗（超长）

 



  
 7

 
  

三、刀座总成 

 

序号 品   号 代    号 名称＆规格 
Name& 

Specification 
数量 

1 511040045 UCF208 带座轴承 
Bearing with 

housing 
2 

2 804090029 WCX5-0014 飞轮焊合件 
Flywheel 

weldment 
1 

3 704090048 WCX5-0101 动刀 Moving knives 4 

4 506010059 GB97.1-16 平垫 Plain washer 8 

5 501011160 GB5783-M16X50 全螺纹螺栓 bolt 8 

6 506030039 GB93-16 弹垫 Spring washer 8 

7 501011111 GB5783-M10X20 全螺纹螺栓 bolt 16 

8 506030036 GB93-10 弹垫 Spring washer 16 

9 704090066 WCX5-0109 轴端罩 Shaft cover 1 

 
  

  
 4

 
  

全螺纹螺栓

平垫

六角防松薄螺母

全螺纹螺栓

六角防松薄螺母

平垫

全螺纹螺栓

弹垫

全螺纹螺栓

平垫

六角防松薄螺母

压条

全螺纹螺栓

加大平垫

弹垫

定刀

说明书筒

平垫

全螺纹螺栓

六角防松薄螺母

轴端罩

下拉杆销轴

传动轴护罩

 
  



  
 8

 
  

四、加高撑脚 

 

序号 品   号 代    号 名称＆规格 
Name& 

Specification 
数量 

1 804090007 WCX5-0012 底座焊合件(新) 
Base 

weldment(new ) 
1 

2 506010056 GB97.1-10 平垫 Plain washer 10 

3 501011113 GB5783-M10X30 全螺纹螺栓 bolt 8 

4 506030036 GB93-10 弹垫 Spring washer 8 

5 804090067 WCX5-0024 加高撑脚 

Heightening the 

brace  
 

2 

6 503010046 GB6170-M10 六角螺母 nut 8 

 
  

  
 4

 
  

全螺纹螺栓

平垫

六角防松薄螺母

全螺纹螺栓

六角防松薄螺母

平垫

全螺纹螺栓

弹垫

全螺纹螺栓

平垫

六角防松薄螺母

压条

全螺纹螺栓

加大平垫

弹垫

定刀

说明书筒

平垫

全螺纹螺栓

六角防松薄螺母

轴端罩

下拉杆销轴

传动轴护罩

 
  



  
 9

 
  

五、加高出料口 

 

序号 品   号 代    号 名称＆规格 
Name& 

Specification 
数量 

1 804090035 WCX5-0015 上罩焊合件 
Upper 

weldment 
1 

2 704070216 WCM8-10102 隔圈 Space ring 1 

3 704070215 WCM8-10101 压板 
Pressure 

plate  
2 

4 804090046 WCX5-0016 出料口焊合件 

Discharge 

bucket 

weldment 

1 

5 501011099 GB5783-M8X20 全螺纹螺栓 bolt 8 

  
 10

 
  

6 506010055 GB97.1-8 平垫 Plain washer 32 

7 503010761 DIN985-M8 六角防松薄螺母 Lock nut 16 

8 501011102 GB5783-M8X35 全螺纹螺栓 bolt 2 

9 501011101 GB5783-M8X30 全螺纹螺栓 bolt 6 

10 804090063 WCX5-0023 出料口加高 

Heightening 

discharge 

bucket 

1 

六、进料口 

 

序号 品 号 代 号 名称＆规格 数量

进料斗焊合件

平垫

弹垫

进料加长斗

全螺纹螺栓

  



  
 6

 
  

导排罩

锁销架

锁销手柄

锁销

回位弹簧

型圆柱销

压紧螺母合件

平垫

盖帽式螺母

半圆头方颈螺栓

平垫

六角防松薄螺母

全螺纹螺栓

全螺纹螺栓

大 销

 
  

  
 11

 
  

七、进料超长口 

 

序号 品   号 代    号 名称＆规格 
Name& 

Specification 
数量 

1 804090001 WCX5-0011 进料斗焊合件 

Feeding 

bucket 

weldment 

1 

2 506010056 GB97.1-10 平垫 Plain washer 2 

3 506030036 GB93-10 弹垫 Spring washer 2 

4 501011112 GB5783-M10X25 全螺纹螺栓 bolt 2 

5 804090059 WCX5-0022 进料加长斗（超长） 

feeding 

extended 

bucket 

1 

 



This warranty shall not be interpreted to render Betstco, or any authorized agent liable for injury or damages of any kind or 

nature, direct, consequen�al, or con�ngent, to a person or property.

The sole and only remedy in regard to any defec�ve product shall be the repair or replacement thereof as herein provided, 
Betstco, agent(s) of Betstco shall not be liable for any consequen�al, special, incidental or puni�ve damages resul�ng from or 
caused by any such defects

Betstco reserves the rights to make improvements in design or changes in specifaca�ons at any �me, without incurring any 
obliga�ons to owners of the units previously sold.

Value-Leader Brand 

 1 Year Warranty

Unless otherwise stated on purchase invoice, Betstco warrants to original Purchaser that Value-Leader 
products are free from major deffects in material under normal use and service for a period of 1 Year 
from the date the product is purchased or shipped, whichever is later. Commercial use 180 days. Use at 
address that is not yours, is considered commercial use. Consumable, Expendalble, Wear Items (Rubber 
plas�c parts, hydraulic hoses, belts, �res, cables, blades, �nes, wedges, teeth, �ups, chains, pins, brushes, 
filters, etc) and cracked hydraulic pumps, bent or broken cylinder rods are not covered under this warran-
ty. Warranty does not cover items that have been modified, damaged by abuse or usage not in accor-
dance with design or maintenance.

Betstco obliga�on under this warranty is to repair or replace defec�ve upon approval by; Betstco, 83371 
Melton Rd, Creswell OR 97426 that Warranty Claim is valid. Product shall be returned upon request of 
Betstco. Transporta�on charges to be prepaid by user.
 Gasoline or diesel engines used to powered Value-Leader products are covered by the warranty of the 

appropriate engine manufacturean Purchaser must look to the engine manufacture for all issues 

rela�ng to engine opera�on.

Betstco assumes no responsibility for outside labor.

PERMISSABLE BY APPLICABLE LAW, BETSTCO HEREBY DISCLAIMS ALL WARRANTIES OF ANY KIND, 

EITHER EXPRESS OR IMPLIED, INCLUDING, ANY IMPLIED WARRANTIES WITH RESPECT TO THE 

PRODUCT PURCHASED, WITHOUT LIMITING THE GENERALITY OF THE FOREGOING, BETSTCO 

HEREBY EXPRESSLY DISCLAIMS ALL LIABILITY FOR PRODUCT DEFECT OR FAILURE, CLAIMS THAT ARE 

DUE TO NORMAL WEAR, PRODUCT MISUSE, ABUSE, PRODUCT MODIFICATION, IMPROPER PROD-

UCT SELECTION, NON-COMPLIANCE WITH ANY CODES, OR MISAPPROPRIATION. BETSTCO MAKES 

NO WARRANTIES TO THOSE DEFINED AS �CONSUMERS� IN THE MAGNUSON-MOSS WARRANTY 

FEDERAL TRADE COMMISION IMPROVEMENTS ACT. THE FOREGOING EXCLUSION OF IMPLIED 

WARRANTIES DO NOT APPLY TO THE EXTENT PROHIBITED BY LAW. PLEASE REFER TO YOUR LOCAL 

LAWS FOR ANY SUCH PROHIBITIONS.

THERE SHALL BE NO LIABILITY FOR PRODUCT LIABILITY OR LIABILITY ON THE PART OF BETSTCO FOR 

ANY GENERAL SPECIAL OR CONSEQUENTIAL DAMAGES ARISING OUT OF THE SALE OR USE OF ANY 

PRODUCTS SOLD BY BETSTCO OR AN AGENT THEREOF, BETSTCO MAKES NO WARRANTIES, EXPRESS 

OR IMPLIED, (INCLUDING, BUT NOT LIMITED TO, ANY WARRANTY OF MERCHANTABILITY OR 

FITNESS OF THE PRODUCTS FOR ANY PURPOSE) WITH RESPECT TO THE PRODUCTS COVERED BY 

THIS AGREEMENT EXCEPT AS IN THIS PARAGRAPH OTHERWISE EXPRESSLY PROVIDED.

THIS IS THE SOLE AND ONLY WARRANTY OF VALUE-LEADER PRODUCTS, NO OTHER WARRANTY IS 

APPLICABLE, EITHE EXPRESSED OR IMPLIED, IN FACT BY LAW.



WARRANTY VOID IF REGISTRATION IS NOT RECEIVED OR RECORDED ONLINE WITHIN 30 DAYS OF 

PURCHASE DATE OR SHIP DATE, WHICHEVER IS LATER.

ITEM: 

PURCHASED FROM:

OWNER NAME:

OWNER ADDRESS:

CITY:

PHONE:

MODEL# PURCHASE DATE:

GIFT  INV# ORDER#

SERIAL #

COUNTY:

EMAIL:

ZIP:ST:

ACCEPTANCE OF RESPONSIBILITY:

I (PURCHASER) HAVE READ OPERATORS MANUAL AND LIMITED WARRANTY OR SOMEONE HAS 
READ/AND EXPLAINED ALL INSTRUCTIONS TO ME. I UNDERSTAND THIS WARRANTY DOES NOT 
COVER ANY LABOR AND THAT ALL DISPUTES WILL BE SETTLED BY BINDING ARBITRATION. BIND-
ING ARBITRATION IS CONDUCTED BY THE BETTER BUSINESS BUREAU (BBB) LOCATED AT 4004 
SW KRUSE WAY PLACE ST 375 LAKE OSWEGO OR 97035 OR THE CURRENT BBB LOCATION CLOS-
EST TO BETSTCO. I ACKNOWLEDGE MY LIMITED WARRANTY IS VOID IF ANY ATTEMPT TO REPAIR 
OR REPLACE DEFECTIVE PARTS HAS BEEN MADE BY UNAUTHORIZED PERSONNEL.I ACKNOWL-
EDGE RECEIPT OF MY OPERATORS MANUAL AND HAVE READ THE SAFE OPERATION SECTION. I 
ACKNOWLEDGE UNDERSTANDING MAINTENANCE AND SAFE OPERATION REQUIREMENTS, ITEM 
SPECIFACATIONS, OPERATION, CONTROLS AND STORAGE REQUIRMENTS. I UNDERSTAND THAT 

IS ALONE AM RESPONSIBLE FOR PROPER MAINTENANCE, CARE AND SAFE OPERATIONOF THIS 

VALUE-LEADER ITEM

I (PURCHASER) AGREE THAT PERSONS NOT FAMILIAR WITH THE OPERATION OF THIS ITEM 
SHOULD NOT BE ALLOWED TO USE IT. CHILDREN ESPECIALLY SHOULD NOT OPERATE OR BE 
NEAR POWER PRODUCTS WHEN IN USE. ANYONE OPERATING VALUE-LEADER PRODUCTS 
SHOULD HAVE READ OPERATIONS MANUALS AND SAFTEY MANUALS.

OWNERS SIGNATURE: x DATE:

YOU MUST SIGN THIS WARRANTY AND MAIL OR FAX A COPY TO BETSTCO, 83371 MELTON RD N. #3, CRESWELL OR. IF YOU PREFER 
YOU MAY COMPLETE YOUR REGISTRATION ONLINE AT WWW.VALUE-LEADER.COM. THIS WARRANTY IS NOT EFFECTIVE UNLESS 
PURCHASER COMPLETE REGISTRATION AND WARRANTY FOR WITHIN 30 DAYS OF PURCHASE OR SHIP DATE WHICHEVER IS LATER.

NOTE: WE MAY REFUSE WARRANTY OF ANY KIND UNLESS BETSTCO, RECEIVES A COMPLETED, LEGIBLE AND SIGHNED WARRANTY 
REGISTRATION. IT IS THE RESPONSIBILITY OF THE PURCHASER TO ASSURE THAT REGISTRATION DOCUMENT IS RECIEVED BY 
BETSTCO.

  
 8

 
  

四、加高撑脚 

 

序号 品 号 代 号 名称＆规格 数量

底座焊合件 新

平垫

全螺纹螺栓

弹垫

加高撑脚

六角螺母

 
  



1 YEAR EXTENDED WARRANTY & REGISTRATION

VALUE LEADER IMPLEMENTS

BRANDED PRODUCTS

1 YEAR EXTENDED WARRANTY

1 Year Extended Warranty amends to original Recorded Warranty Registra�on 
the �me period of described coverage. Extended Warranty does not apply to 
consumable and Expendable Item as described in Product Warranty Registra-
�on. 
This amendment does not affect any other part of recorded Warranty Regis-
tra�on or policy. 
No one is authorized to alter, modify, or enlarge this Amendment to original 
recorded Warranty Registra�on 

EXTENDED REGISTRATION & PAYMENT MUST BE RECEIVED 

WITHIN 30 DAYS OF PURCHASE DATE

EXTENDED WARRANTY REGISTRATION

PRODUCT & MODEL # 

SERIAL #

OWNER NAME : 

BETSTCO INVOICE #

ACCEPTANCE OF RESPONSIBILITY:
I (PURCHASER) HAVE READ AND UNDERSTAND THE EXTENDED WARRANTY OR SOMEONE HAS 
READ AND EXPLAINED ALL THE ABOVE TO ME. I UNDERSTAND THIS EXTENDED WARRANTY DOES 
NOT COVER ANY LABOR. I HAVE FILED MY ORIGINAL WARRANTY REGISTRATION AND FULLY 
UNDERSTAND MY REQUIREMENTS. I UNDERSTAND THAT I ALONE AM RESPONSIBLE FOR 

PROPER MAINTENANCE, CARE AND SAFE OPERATION OF THIS TRACTOR IMPLEMENT.

YOU MUST SIGN THIS WARRANTY AND MAIL OR FAX A COPY TO BETSTCO, 83371 MELTON RD, CRESWELL OR. IF YOU PREFER YOU 
MAY COMPLETE YOUR REGISTRATION ONLINE AT WWW.VALUE-LEADER.COM. THIS WARRANTY IS NOT EFFECTIVE UNLESS 
PURCHASER COMPLETE REGISTRATION AND WARRANTY FOR WITHIN 30 DAYS OF PURCHASE OR SHIP DATE WHICHEVER IS LATER.

NOTE: WE MAY REFUSE WARRANTY OF ANY KIND UNLESS BETSTCO, RECEIVES A COMPLETED, LEGIBLE AND SIGHNED WARRANTY 
REGISTRATION. IT IS THE RESPONSIBILITY OF THE PURCHASER TO ASSURE THAT REGISTRATION DOCUMENT IS RECIEVED BY 
BETSTCO.

OWNERS SIGNATURE: x DATE:

  
 10

 
  

平垫

六角防松薄螺母

全螺纹螺栓

全螺纹螺栓

出料口加高

六、进料口 

 

序号 品 号 代 号 名称＆规格 数量

进料斗焊合件

平垫

弹垫

进料加长斗

全螺纹螺栓

  


